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At first glance one may think that 
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misses 0 for the obvious reason and 1 because 
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, hence contradicting The Little Picard Theorem.  However, the exponential complex function, 
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, is periodic.  We can easily investigate this situation and observe that 
[image: image6.wmf]()

z

e

fze

=

does in fact follow The Little Picard Theorem.  Clearly, 
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misses zero.  To show that 
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does pick up a value of 1 we will set 
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 and we know that 
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.  Hence we can find 
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 by setting 
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and we have,
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Thus, 
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We can see that the function 
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does take on the value of one as well as every other value in the complex numbers infinitely many times including the negative real axis. 
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